
 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

Απάντηση 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Ολική ζήτηση χλωρίου 0,274 mgr/l 

Α) Παροχή=Q.Δόση χλωρίου= dKgr
xx

/15
10

106,025000
6

3

 

dKgr
x

NaOCl /5,31
45,35

155,74
 

Β) Παροχή=Q.Δόση χλωρίου= dKgr
xx

/35
10

104,125000
6

3

 

dKgrNaOCl /5,73  

y x 

0 0 

0,1 0 

0,2 0,02 

0,3 0,1 

0,4 0,2 

0,5 0,3 

0,6 0,5 

0,7 0,7 

0,8 0,74 

0,9 0,5 

1 0,1 

1,1 0,05 

1,2 0,15 

1,3 0,25 

1,4 0,35 

1,5 0,45 

1,6 0,55 

1,7 0,65 

1,8 0,75 

1,9 0,85 

   

 



 


